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Science 10 Genetics Problems
Vocabulary:
Gene – a 




            
that codes for a 





. 
Allele – the 



           

of the gene. 
genotype – the 






for a gene. Example of a genotype for hair colour is 



homozygous – both alleles are 





heterozygous – two 





alleles
phenotype – the 




of the genes
For each of the questions below 
(a) write down the phenotype for each genotype and 
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(b) complete the punnet square 
Purple flowers are dominant to white flowers
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PP

________________
Pp

 ________________
pp

 ________________
Brown eyes are dominant to blue eyes
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BB

 ________________
Bb

 ________________
bb

 ________________
Round seeds are dominate to wrinkled seeds
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RR

________________
Rr

 ________________
rr

 ________________
[image: image6.png]


Bobtails are recessive to long tails
	
	t
	t

	T
	
	

	T
	
	


TT

 ________________
Tt

 ________________
tt

 ________________
Straight hair is dominate to curly
For each of the following phenotypes, write the possible genotype(s) beside it. Use the letter S for the allelles.

straight 
_________
straight 
_________
curly
 
_________
	
	
	

	
	
	

	
	
	


A TT (tall) plant is crossed with a tt (short) plant.  What percentage (%) of the offspring will be tall?
_________ of the offspring will be tall
A Tt plant is crossed with a Tt plant.  What percentage (%) of the offspring will be short?
	
	
	

	
	
	

	
	
	


_________ of the offspring will be short
A heterozygous round seeded plant (Rr) is crossed with a homozygous round seed plant (RR).  What percentage (%) of the offspring will be homozygous (RR)?
	
	
	

	
	
	

	
	
	


_________ of the offspring will be homozygous (RR)
	
	
	

	
	
	

	
	
	


A homozygous round seeded plant is crossed with a homozygous wrinkled plant.  What are the genotypes of the parents?
_________ of the offspring will be homozygous
In pea plants purple flowers are dominate to white flowers.  If two white flowered plants are crossed, what percentage of the offspring will be white?
	
	
	

	
	
	

	
	
	


_________ of the offspring will be white
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